RESOLUTION

ROCK COUNTY BOARD OF SUPERVISORS

Sheriff Troy J. Knudson INITIATED BY



<u>2/1/2022</u> DATE DRAFTED

Authorizing the Sheriff's Office Purchase of Ten Portable Radios

WHEREAS, the 2022 budget request includes the purchase of ten portable radios; and,

WHEREAS, the Sheriff's Office will purchase the radios as spares to be used when existing radios need repair, issued to new hires, or during special events; and,

WHEREAS, section 2.218 (4) of the Purchasing Ordinance does allow Rock County to purchase equipment through a cooperative purchasing agreement with the State of Wisconsin under Contract #505ENT-O22-SAFETYCOMM-05; and,

WHEREAS, all of the radios purchased during the Portable Radio Replacement project included in the 2021 budget, have been assigned to existing staff, and;

WHEREAS, General Communications, in Madison, Wisconsin maintains the Sheriff's Office radio and communication systems, and;

WHEREAS, the Sheriff's Office and the Purchasing staff have reviewed the quote and recommend purchasing ten L3Harris XL-200P Portable Radios.

NOW, THEREFORE BE IT RESOLVED by the Rock County Board of Supervisors assembled this 10th day of February 2022, that a Purchase Order be issued, to General Communications, Madison, Wisconsin, totaling the amount of \$50,664.10 for the purchase of ten of the 2022 budgeted Sheriff's Office Portable Radios.

FISCAL NOTE:

Funds were included in the 2022 budget for this purchase. The purchase is being funded with sales tax revenue.

Sherry Oja Finance Director

LEGAL NOTE:

The County Board is authorized to take this action pursuant to §§ 59.01 and 59.51, Wis. Stats. In addition, § 59.52(29), Wis. Stats., requires the project to be let to the lowest responsible bidder.

Richard Greenlee Corporation Counsel

ADMINISTRATIVE NOTE:

Recommended.

Josh Smith County Administrator

vote.	& Justice Com	mittee recommer	ided this resolution	on for approval by	y a unanimous voice

EXECUTIVE SUMMARY

Authorizing the Sheriff's Office Purchase of Ten Portable Radios

The Sheriff's Office 2022 approved budget contains the purchase request of ten Portable Radios for the Sheriff's Office.

The initial Portable Radio Replacement project was completed in budget year 2021. The new radios have proven to be a better fit for the needs of the Sheriff's Office, and have improved officer safety. When the Sheriff's Office purchased last years' budgeted radios, they purchased only as many radios as were needed for their existing staff. The purchase of ten additional radios will facilitate the need for a spare, when a radio needs to be sent in for repair, needs to be issued to a new hire, or during an event where we have several municipalities in need of communicating.

General Communications, in Madison, Wisconsin, maintains the Sheriff's Office radio and communication systems. The Sheriff's Office and the Purchasing staff reviewed the quote, and recommend purchasing the L3Harris XL-200P Portable Radios from General Communications of Madison, Wisconsin in the amount of \$50,664.10. This purchase is listed under the Sheriff's Office 2022 budget line 21-2100-0000-67120 Capital Assets \$2,000-\$25,000.

SALES QUOTE



2880 Commerce Park Drive, Madison, WI 53719

Madison Milwaukee Eau Claire

P: 608-271-4848 P: 262-439-2000 P: 715-225-7604 F: 608-661-2935 F: 262-439-2009 F: 608-661-2935 www.gencomm.com

Account No: 174

Date: 12/14/21

Sales Quote No: 23751

Bill To:

Rock County Sheriff's Department

200 East Highway 14 Janesville, WI 53545

USA

Ship To: Rock County Sheriff's Department

200 East Highway 14 Janesville, WI 53545

USA

		Ship Method	Checkens Labe by tonactors - manages	nent Terms		uote Expires On
Nick Sies	.	Service Installation	NE	T 30 Days		1/13/22
		Notes				
IASPO Pricing						
complete radios for year 2	2022					
Item:No	Description	on and the second second	Quantity	UM	Price	Amo
-PPM1M	Harris Portable, XL-200P, Partial, Midnight BLK, US		10.00	Each	\$1,998.00	\$19,980.
PKGF2	Harris FEATURE PACKAGE, DUAL BAND VHF+UHF	10.00	Each	\$740.00	\$7,400.6	
-NC5Z	Harris Antenna, Flex, Helical, 136-870 MHz			Each	\$81,40	\$814.
-PKGPT	Harris Feature Package, P25 Trunking			Each	\$1,110.00	\$11,100.0
PL <i>7</i>)	Harris FEATURE,FIPS 140-2 OPERATION LEVEL 1	10.00	Each	\$0.74	\$7.	
PL8Y	Harris: Encryption Feature Lite for XL-200P			Each	\$0.01	\$0.:
PKG8F	Harris Feature, 256-AES, 64-DES Encryption		10.00	Each	\$514.30	\$5 ,1 43.0
PPA3VLIXT	Power Products 5000 mAH Li-ion		10.00	Each	\$129.50	\$1,295.
I	Harris Add 3 Years of Extended Warranty to XL200 Total)	P (5 years	10.00	Each	\$200.00	\$2,000.
-HC3L	Harris Belt Clip, Metal		10.00	Each	\$22.20	\$222,0
-AE4B	Harris Storm speaker Microphone, XL-200P, Emerg	ency Button	10.00	Each	\$225.00	\$2,250.
	Otto Earphone with Acoustic Tube/Evolution, Profile 2.5mm, Right Angle	e, Storm.	10.00	Each	\$45.26 ;	\$452.I

Returns & exchanges are accepted within 30 days of purchase and require an RMA Number. Items must be in unused condition and in original packaging. Special order items are non-returnable and may not be canceled once shipped from vendor.

Subtotal	\$50,664.10
Freight	\$0.00
Sales Tax	\$0.00
Sales Order Total	\$50,664.10